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Note :

Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Discounit allowed is a / an : (PSS 4 )

Income 47 (D) Liability Gbsr3 (C) Asset 2¢1 (B)  Expense 2/ (A)

Capital + liabilities - assets equal to ; DL s B - Jliei + L |2
Two » (D) Three & (C) One {i (B) Zero 4 (A)

Noting charges are paid when bill is : e 2 L i (3
Dishonoured g (B) Discounted ;2;; (A)
None of these ufﬁ)é_,g_,r:d! {D) Retired ;<372 (C)

The balance sheet is prepared,t/okncw : Ll i . dw 3o os ,jJ-f 4
Net profit Cf'lfjb (B) Financial position cﬁ)gdt (A)
Total assets :.«kgﬁh‘*ld"[ (D) Net loss u,!L-a?}V”JB (C)

Interest on drawing in a businessisa/an: tee oy g,%m U= K |5
Liability $.55-+5 (D) Asset 2t (C)  Expense 3/ (B) Income (47 (A)

The normal balance of assets is : - 2 J‘J-' g ¥ =l ZFI(B
All of these 12, (D) Positive e (C) Credit &4/ (B) Debit wxi (A)

The language of business is : tee b uf Al 7
Auditing &7 (D)  Economics ST (C)  English /% (B)  Accounting _&s5¢1 (A}

Total columns of journal are : windf F L &8
Seven =L (D) Five & (C) Four J '(B) Two 5 (A)
Qutstanding expenses are : ' LU =l bl (9

Expense only 2/~ (B) Expense and liability ($/h-inle 7 (A)
Assetonly  :2kili” (D) Liability only Gibsasd” (C)
Modern system of book-keepihg'_fs : L B wap € 2|10
Single entry system (Lb‘i(&;bjlz_.,ﬂ (B)  Double entry system B4l 10 (A)
None of these L,':f.é/a_,;_,tg;l (D) Cash basis system rLEi{:l:-'zJJ'{ {C)

( E‘g.?JJ: )
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None of these Ui te! (D)

Three accounts .:;:lpf_;f (C)

2 )

Expenses have generally balance : e e" Vei s =pip| 11
None of these (&b fwl (D)  Cash ¥ (C) Creditet/ (B) Debit ex} (A)

Batance sheet is a statement of : e ot Lo (12
Liabilittes Ui (B) Assets =ikl (A)
None of these uifdfa,uiul (D) Assets + liabilities U bai + = b3kl (C)

Carriage paid on machinery purchased is : L e/ 1 :A/ £ i ;5/;;5' 13
Revenue expenditure .ngy; (B) Capital expenditure 2 /Gl - (A)
Revenue loss S G (D) Capital loss GGl » (C)

Discount received is a/an * re S as? |14
Expense >/ (D) Liability $4s.5 (C) Income (.7 (B)  Asset 2¢! (A)

Grace days for payment of bill are : rr e Gl L L d?bf S S5
Six 4 (D) Five &L (C) Four i (B) = Three of (A)

Compound entry comprises at least : et F |16
Three accounts =b=W.? (B) Two accounts bzl (A)
One account 226 (D) Four accounts .:.!g;i.zﬁjf (C)

Goods purchased isa/an: : ._(i e Sp? J ;__t,f—l 17
Capital expenditure .__:_vﬁdslf (B) Revenue expenditure ,;;f‘;_-}yL (A)
Capital loss WSl (D) BothA&B U Bt A (C)

Over cast of purchase book will : LRI ETIVE - u( Sz 7(18
Decrease net profit f‘f;,-"uﬁ“ (B) Increase net profit (‘ff&iup (A)
All of these e (D) No effect on profit uﬁ’?@:f;g (C)

Net loss is transferred in balance sheet to . e by Uﬁ s J"'L: st U‘FLE 19
Losses J=tis (D)  Liability #5.l5 (C) Asset j2¢ (B)  Capital £l (A)

Error of omission affects : Ce B uth ¢ g Ui |20
Two accounts 4= (B) One account  4=WcLi (A)
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Maximum Marks : 80 80 1/1@/

( PART-1 3l )
10 2. Write short answers to any FIVE (8) questions :  : &9' O 4 /3 L =iy (5) ég c.éf -2

(i) What is meant posting? et & 35 (i)
(i) Define transaction. g )
(iiiy Define narration. -é uy/'" J el (i)
(iv) What is book keeping? e stp i = oF b (V)
(v) Define sale return book. 2y S ss) St (V)
(vi) What s credit balance? e SEetd W)
(vii) Define cash book. g wrd £ A i
(viii) What is discount? Se i 2 (viid)
10 3. Write short answers to any FIVE (5) questions : ol oy P L ey (5) 8L <0 3

(i) Define book account. 2w s & ()
(i) Define voucher. ﬂgg P ¢ 235 (i)
(i) What is meant by unpaid cheques? Ty e U'EZ 0i5 1 A (i)
(iv) Define Marshelling. S (v
(v) Define days of grace. _z:‘;f _yﬁ d ru Gl (v)
(vi) Define revenue expenditure. _.’:f_f .,.51/‘7 g %_,5 SL-'L {vi}
(viiy What is meant by errors of omission? S sty __J = b J ._f;; Jf (Vi)

& 5§ G i

(viii) Define depreciation,
( PART-II o .#)

Note : Attempt any THREE questions. g Loaty £ = df e
20 4. Following are the transactions :‘J;ZO‘!G P éﬁ)'/alsvgdﬁu,;[)c_,d:ﬁdjané-._:'”-'f/'.';'...ii': -4

of Wasif & Co. Prepare accounting equation for the month of November 2016 :
(i) Started business with cash Rs. 200,000. Wb s 2270

(ii) Bought fumiture Rs. 4000. I PEN B 4T (W)

-J)’:'.L‘EK'L_—JUCJ\’.}(!J&E)ﬂé!Ju:‘jeuliﬂ 10 bkd.ufv’adgf.df?&i____,w'j 30 27 (i)
{iii) Bought machinery Rs. 30,000 paying cash Rs. 10,000 and balance is to be paid later on.
(iv) Purchased merchandise Rs. 15000. ..a,f{r}r?UJ@)JKJé.:ﬂ[ﬁ;’l 5 27 (iv)
r . 4 N & T .
(v) Sold merchandise Rs. 8000 costing -uﬂ.:.::/:((éﬁe.m!/; 8 yL{Jg(- AT A 6 {v)
Rs. 6000 to Najam. .
(vi) Paid electricity bill Rs. 4000. Wiz 4 57 )
{vii) Goeds Rs. 2000 used personally by Wasif. _LUL}.‘.JLz"’!drizv_l_.aﬂ!ug.-ilg_‘(é,s.-;[,'f 2 27 (i)
LIPS R s 8 T (vill)
-éd!‘!@f‘;—!u!‘,‘f 8 g (lx)
_.L_—Ur’u,-'b/_«@.;'_._.:ug% 28

(viil) Paid to creditors Rs. 8000.
(i) Received from Najam Rs. BO0O.
(x) Received bank interest Rs. 2000.
( iljﬂ )
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20 5. Journalize the following transactions ; : i EJJQI:JJ{L-[::J!J.J&» -5
(i) Started business with cash Rs. 50000. W ks e st 50 0]
(if} Purchased goods on account for Rs. 12000. _u.‘.g.“};_‘uibb:!d’/?.wt&12 L’f (i)
(i) Sold goods on account Rs. 9000, Sk il Se sl 9 U7 (i)
(iv) Returned defective goods of Rs. 2000 to the creditors. _u-."( ﬁ ls f:d?-'!p “Ljf..,ali-t,(é; sulp 2 Dl" (iv)
(v) Customer returned goods Rs. 3000. -u-{,’ilsi...ﬂﬁ?fd’%.wi,& 3 Cf" v)
(vi) Received cash Rs. 5000 from credit customer. e o B"Llutmfﬂ.;_mij; 5 B (vi)
(vil) Paid cash Rs. 3000 to creditor. -t sz 3 87 (il
(viil) Paid salary to worker Rs. 4000, ot FH s 4 B (i)
(ix) Paid personal expenses of owner Rs. 8000, LAY Motz B (i)
(x) Received commission Rs. 5000, _t_fdﬁ&fg_mf/; 55 (%)
20 6. Prepare Bank reconciliation statement of Mr. Mujtaba, -q’{xg‘-'cjkﬂl}ﬁ Tﬁb’u@fgy’/ -6
(i} Bank balance as per pass book Rs. 9600. -<-2, 9000 u_fuku"‘fléz{ ﬁw@ (i)
{ii) Un-presented cheques Rs. 8000. -4, 8000 ...{._’gu/‘ E{,{ (i)
{iil) Uncoliected cheques Rs. 11000. -0 11000 Lo 284 (i)
(iv) Bank charges debited by bank only Rs. 1200. ce3 1200 L d i nd ais (iv)
(v) Dividend credited by bank only Rs. 2000, 410 2000 Ve L SE i ()
(Vi) Interest credited by bank only Rs. 3000, &2 3000 Y i vl Lirli (vi)

{vii) Insurance premium debited by bank orly Rs. 500. -3, 500 L»':L-:,Vi:fz; 208 ..Js:?._i,’ (vii)
20 Gk w28 s sdor Al SR b i WK E KL s 6000 & 12017 gd T
L2skd 5 s, S LIIBIGE Cias § 13 a7 &1, 2000 t"-‘)fawdfm;u;;:ﬁ Il (Flaty

& E;,r/;:fy:.'-d-'-’uL@J:JUJ{VJ{.?M»L«’I = fg.ﬁ)lﬁr‘:..vl)
7. Ahmad drew a three months bill an Ibrahim for Rs. 6000 an January 1st, 2017. Ibrahim accepted the bill
and returmned it to Ahmad. On the due date Ibrahim expressed his inability to meet the bill and offered to

pay Ahmad Rs. 2000 in cash and accepted a fresh bill - to cover the baiance plus interest at
5% pa. Pass journal entries in books of Ahmad and Ibrahim.,
20 8. Classify the following into capital or revenue : L 2k J,«::,.;»c.J;!J&LJL;JI;};L/JJJ,;;& -8
(i) Brokerage and stamp duty on purchase of investment. 5 ’—‘-j.’zq»sf'J U;{J-ni'd/dﬁz,l. (i)
(i) Wages paid on the erection of a machinery. _uﬁgFJ!J{,ﬁ;»f{’_éL/{Q{uﬁf.&js@ff/ {ii}
(ii) Amount spent on the uniform of the staff. _ﬁdeE:,}:;pﬁngg. (i)
{iv) Cost of repair of a motor car to bring it in working condition. _..x«fudliebuh’;_}:ﬁ'w@n.ﬂ;b”}r‘_? {iv}
(v) Repair cost of furniture. -:«md/:/f/;}jf‘,s v
(vi) Cost of goodwill purchased. 4 :;..':-591’\_:,:’;' Vi
(vii) Carriage paid on purchase of goods. *y/.': '._,L'"’b’ St L, W)



- (3)
8. (viii) Profit earned on sale of goods. ' “’\q _gu’d”;w,)&?: (viii) .8
(ix) Expenditure on advertising campaign. y‘ _.;«L;rlffz.i’_’{ﬁ’degJQ?fl (ix})
(x) Cost of re-decorating of cinema hall. U -aﬁiJLQs’uL»ﬂWf’ {x)
20 : L ZEEK 201545 31 e e ST L itn -9

9. From following trial balance of Mr. Ali & sons, prepare trading, profit & loss account and balance sheet
for the period ended 31st December,2015 :

Debit Balances | Rs. Credit Balances Rs.
Stock 23| a500| Capital | 134000
Purchases 47| 175000 Sale =33/ | 235800
Woages =2l 7200 Purchase return J_)"(ﬁls 9500
Octri dzl 500 creditors WSS 11000
Salaries i | 12000
Cash g 9000
Debtors Al 18500
Rent £ | 15600
Advertisement ;‘?J 4 12000
Sales return ;5,/"0‘5'!3 6000
Building =Af] 100000
Furniture Z7| 30000

Total J | 380300 Total ¥ | 300300

B = 4

Adjustments: s pediaoa Bl
(1) Closing stack is valued Rs. 12500. -2 12500 é"a/.:':dk}' {i)
- 4410 ¢ B riad 15 {..-',;Lfc}Jf:r/' (11}
(i) Depreciation of building @ 15 % and furniture @ 10 % p.a.
(iii) Outstanding salaries are Rs. 5000. ~ie2i D ¢ -L,fi?"‘j:;“.....?!.- (iii)
(iv) Prepaid rent Rs. 2000. —e sl 2 B v

48-219-(Essay Type)-29000



